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Cloze Test Quiz 39

Directions: In the following passage, some of the words have been left out, each
of which is indicated by a letter. Find the suitable word from the options given
against each letter and fill up the blanks with appropriate words to make the
paragraph meaningful.

The major A of establishing Regional Rural Banks are to develop
rural economy by providing credit and other B for agriculture,
trade, commerce, industry and other productive activities in the rural areas,

C to the small and marginal farmers, agricultural labourers, artisans
and small entrepreneurs. An RRB is sponsored by a commercial bank. For the
purpose, the sponsor bank requests the Central Government which issues a

notification after consulting the D State Government. Normally, an
RRB covers one district but it is also permitted to open its branches in other
districts. So far the maximum E has been eight districts, as in the

case of Manipur Regional Rural Bank, which covers the entire State of Manipur.

Questions:

1.A

A.theme B.ideas C.work D.duty E. objectives

2.B

A. facilities B.items C.goods D.amenities E. values

3.C

A.clearly B.certainly C.particularly D.similarly E. likely
4.D

A. neighbouring B.concerned C.related D.nearest E. willing
5.E

A. average B.enclosures C. beneficiaries D.coverage E. share



Correct Answers:

Explanations:

1.

Usage of any of the words 'theme', 'work' and 'duty' would bring absurdity to the
context of the passage and hence options A, C and D can be eliminated.

Between 'ideas' and 'objectives' the latter fits the gap appropriately as the writer by
the first sentence seems to be stating the purpose of establishing RRBs.

Option E is hence the correct answer.
2'

Usage of any of the words 'item', 'goods' and ‘'values' is illogical and doesn't make
any sense. Options B, C and D hence get eliminated.

Between 'facilities' and 'amenities' the former is the better choice because an
‘amenity' is a feature that provides comfort, convenience, or pleasure and we use
this word in the context of describing the features of a hotel or a house.

Option A is hence the correct answer.
3I

Usage of any of the adverbs 'clearly’, 'similarly’ and 'likely' for the blank doesn't add
any meaning to the context and hence options A. D and E can be eliminated.

Between 'certainly' and 'particularly’ the latter fits the gap logically because in the
later part of the sentence the writer specifically mentions the groups going to be
benefited by the establishment of the RRBs.

Option Cis hence the correct answer.



4.

Usage of any of the words 'neighbouring', 'nearest' and 'willing' for the blank would
be absurd as none seems to be going well with the context. Option A. D and E hence
get eliminated.

Between 'concerned' and 'related' the former is the more suitable word for the gap
as it completes the sentence in a meaningful way.

Option B is hence the correct answer

5.

Usage of any of the words 'average', 'enclosures' and 'share' for the gap would be
inappropriate as none adds any meaning to the context. Options A, B and E hence
can be eliminated.

Between 'beneficiaries' and 'coverage' the latter fits the gap appropriately and the
presence of the verb 'covers'in the latter part of the sentence confirms it as well.

Option D is hence the correct answer.
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